
Scanned with CamScanner

D 1- convert grams of C6H12 to moles
moles = grams / molar mass 
moles = 168/(12*6 +1*12) = 168/84 
168g of C6H12 = 2moles 
2-convert moles of C6H12 to moles of CO2
1C6H12 = 6CO2 THEN 2moles * 6moles = 
12moles of CO2
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C Na = +1 (First group)
O = -2 (constant) 
NaNO3 = 0 
1 + x + (-2*3) = 0
1 + x -6 = 0 
x-5 = 0 , x=5
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C La Chatelier's princple of concentration:
-if we add THE reaction shifts to the opposite side
- if we remove THE reaction will shift to the same side
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C O = -2 ,O2 = -4 
Compound charge = 0
Mn - 4 = 0 
Mn = +4
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A 2Li + Cl2 -> 2LiCl
Li: 2 , Cl: 2
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B R-NH2 OR C-NH2
IT IS AMINE 
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D 10^8 to 10^14 are < 10^7 
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D
Weak electrolyte can coduct electricity
but they partially ionize. 
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A pH > 7 base, pH<7 is acid
[H3O] = 1*10^-x , x=pH
[OH] = 1*10^-x , pH = 14-x 
[H3O] = 1*10^10, pH =10 (Base)                                                                                                                                                                                                                      
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D Mg = +2 , OH = -1
Mg(OH)2
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D Conjugate acid is a base which accepts a proton 
NH3 + H -> NH4+
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D
In exotheremic reaction (heat is product) 
when we remove heat the reaction will shift 
to favor the products.
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A
1-Grams to moles 
moles = grams / moar mass = moles
moles of Sugar = 22.5 / 342 = 0.065mol
2-find molarity: 
M = moles / volume in (L)
M = 0.065 / 0.035 (ml ->L)
M = 1.85
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D Volume (L) = moles / molarity
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D 1-Convert grams to moles
moles = grams/molar mass 
moles = 44g / 88g/mol
moles = 1/2 
2-Convert moles of C3H7COOH to moles of CO2
1 C3H7COOH -> 4CO2  then 4*1/2 = 2moles of CO2
3-Convert moles to grams
grams = moles * molar mass , 2 * 44 = 88g
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A
Cu = 0 -> Cu = 2+ (oxidized or reducing agent)
Ag = +1 ->  Ag = 0 (reduced or oxidising agent)
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3-methyl-1-pentyne
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C
CH3: methyl
CH3CH2: ethyl
CH3CH2CH2: propyl
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A Alkane: CnH2n+2
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C
Alkane: CnH2n+2
Alkene: CnH2n
Alkyne: CnH2n-2
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C Percent of S = molar mass of S/ total molar mass *100

H2S = 34g/mol
S = 32g/mol
Percent = 32/34 * 100 = 94,1%
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D
Lewis acid: acceptor
Lewis base: donor
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B M2 = M1V1/V2
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D Moles of atoms = atoms / (6.022 *10^23)
Grams = moles * molar mass 
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C
Ester: COOC
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C Ketones: R-CO-R
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D Volume (L) = moles / molarity
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A Limiting reactant 
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A Type text here
Conjugate base or acid should
be less than or more than 
 only 1 H atom
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B
pH > 7 base, pH<7 is acid
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C Keq = [products]/[reactants]
Solids are EXCLUDED
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C Ester: COOC
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C
Type text here
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A
Fe2O3 
O = -2, Fe = +3
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D
NO3 = -1
N + (-2*3)=-1 
N-6 = -1 
N = +5
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A
Keq = [products]/[reactants]
Keq = [SO3]^2 / [SO2]^2 [O2]
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C
FeO = 0
O = -2 
Fe -2 = 0
Fe = +2
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D
Diatomic molecule is nonpolar
for ex: N2, O2, F2 ...etc
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A
Aldehyde: R-CO-H
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D
Sucrose is nonelectrolyte
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A Ethers: C-O
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B
methylbenzene = Toluene
Hydroxybenzene = Phenol 
Aminobenzene = aniline 
Aceylene = ethyne
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B: (b) 
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[H]+ = [H3O+] 
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D: HSO4-
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D
Volume (L) = moles / molarity
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D
N2H4 + 2H2O2 -> N2 + 4H2O 
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A
C-NH2 : amine
COC: ketone
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C
If C atom bonded to: 
1- 2H atoms and 1C then primary
2- 1H atoms and 2C then secondary
3- No H atom and 3C then teriary 
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D                                                                                                                                                                                                                                                                                                                                                                                                                                                                   
[OH-] x [H3O+] = 1x10^-14
[OH-] = 1*10^-14 / [H3O+]
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